
N = 31

 31 circles in a 1x0.70000 rectangle

radius =   0.074848562871
ratio  =   9.352216971807

density  = 0.779435996263
contacts = 58

 E.SPECHT
20-AUG-2010

N = 32

 32 circles in a 1x0.70000 rectangle

radius =   0.074023210305
ratio  =   9.456493404070

density  = 0.786932792116
contacts = 62

 E.SPECHT
09-AUG-2010

N = 33

 33 circles in a 1x0.70000 rectangle

radius =   0.072729408259
ratio  =   9.624717384013

density  = 0.783404173216
contacts = 85

 E.SPECHT
09-AUG-2010

N = 34

 34 circles in a 1x0.70000 rectangle

radius =   0.071756184271
ratio  =   9.755256736506

density  = 0.785686738254
contacts = 79

 E.SPECHT
18-AUG-2010

N = 35

 35 circles in a 1x0.70000 rectangle

radius =   0.070334536151
ratio  =   9.952436431742

density  = 0.777064613811
contacts = 77

 E.SPECHT
09-AUG-2010

N = 36

 36 circles in a 1x0.70000 rectangle

radius =   0.070041043140
ratio  =   9.994140130105

density  = 0.792609994827
contacts = 90

 E.SPECHT
20-AUG-2010


